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The relation between the internal output capacitance and the input capacitance of an inverter is assumed to be γ=1.













(5.4)

For the inverter of figure 5.3 and an output load of 3 pF:

a) Calculate , , and .

 is equivalent to charging the output capacitance through a resistance.

, where 

b) Are the rising and falling delays equal? Why or why not?

No, they are different.  since  is much larger than the effective on-resistance
of transistor M1.
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Comment: The maximal data input rate (frequency) of this gate can in reality not be 1/tp, since the charging takes much longer time compared with the discharging. (The output will only reach about 0.8 V (2.5 V power supply) in this case).




































